


Write this decimal as a fraction:

0.64 = ——

How could we represent this?




Write this decimal as a fraction:

0.78 = ——

How could we represent this?




What do I know?
What do I need to find out?
How else could I represent this?
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What do I know?
What do I need to find out?
How else could I represent this?
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What do I know?
What do I need to find out?
How could I represent this?

Fill in with the missing symhols < > =

N

10 0.5



What do I know?
What do I need to find out?
How could I represent this?

Fill in with the missing symhols < > =

I~

10 0.75



What do I know?

What do I need to find out?
How could I represent this?

Put these in ascending order:

1.4 4% 41 4.4



What do I know?
What do I need to find out?
How could I represent this?

John has wualked 3.5km.
Salh;ha&wulked,&%hm.

Who has walked further? Explain your answer:




What do I know?

What do I need to find out? Hinge Question
How could I represent this?

Put these in ascending order:

1.3 1 3! 3.1
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0.92

0.78

0.21

0.22
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0.14

2. Write these decimals as mixed, numhers

4. Order these from the largest to the smallest
1.2km 5.75m 25.5kg
3z 35 13 13

Fill in the missing symbols (<, > or =).

1 1
ﬁD 0.75 04l 2
050 2 20 075
0.8 g %[I 0.2



Use Ltfpﬂzz it For each question, drow and, representation and explain

1.

2.

how yow know your answer is correct.

Here are two parcels:
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What is the total combined weight of the parcels, in kilograms?

||
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T
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My brother weighs 27.3kg. | weigh 27%kg. How much more than my brother do
| weigh?

Year 6 set off on a 2%km woodland walk. By lunch, they had walked 1.75km.

How much further do they need to walk?

Sammie hought a hottle of Diet Coke. She drank 0.4 litres of the hottle. She
spilled 0.9 litres of the hottle. How much liquid has left the hottle altogether?
Answer in a fraction.



